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You should give a summary of everything in the report in a preferably single paragraph as the
abstract.

I. INTRODUCTION

Here, a brief theoretical background of the experiment and its importance to the modern physics must be given.

II. EXPERIMENTAL SETUP

The method used for the experiment including the experimental setup should be given in this section.

IIT. DATA AND ANALYSIS

The raw data and methods used to extract the final results must be given in this section. The raw data is shown
in Table I.

TABLE I: The raw data taken and the associated error.

t (sec) A (m) oy (sec)
0.0 515 0.244
1.2 253 0.105
24 0.18 0.181
3.6 -2.07 0.272
4.8 -4.43 0.264
6.0 -7.11 0.167

The raw data is shown in Fig. 1 with blue data points. We fit this data to a straight line with A = A\, — vt, and
found the follow fit parameters:

Ao =4.9954+0.115m , v =2.006=40.036 m/s

See Appendix A for details.

IV. RESULTS

A conclusion must be provided here. You should also discuss the results you found in the this section. If you en-
counter any problem, inaccuracies, etc. this should be discussed as well. Recommendation to improve the experiments,
if any, must also be provided.
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FIG. 1: My cute figure.
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Appendix A: Line Fitting

Here you show the details of your calculations. If you wrote any code to analyze your data or did some more
complex calculation than required, it must be placed as an appendix.

Here, let us fit our data to y = n + mx, keeping in mind that A, = n and v = —m. Then, the relevant sums are
shown below:

S = Z% = 201.88

0;
t;
Se = —5 =51561
Ai
Sy = 5 =-257018

Sey = Y g =~ 16516 x 10°
> 5 3

Then, we calculate A as:
A =88, — 8% =1.5965 x 10°
Accordingly, we calculate the fit parameters. The interception is at

 _ SeaSy = SuSay

=4.994
A 9948

its error was found:

On = Ao = /Szx/A = 0.1149.

The slope is

m=—v= W = —2.0056,

and its error is

os = \/S/A = 0.0356.

The red line shown in Fig. 1 show the A = A\, — vz line with the parameters found here.



